
id

so P is the chain homotopy

inverse of it
It follows from homotopy invariance

statements that it is an isomorphism

Hp x Hplx

PROOF OF EXCISION THEOREM

Let Me ABY such that tub X

it S x 2s Cx

is a chain equivalence From

proof of theorem 1 we get

maps P D that map simplices

in A to simplices in A



P and D induce maps on

quotients

p Splysp SR
a

p Spg SpaAyy
It still holds that

25 52 id ite p
and that

it 54 S
Ms a

is a chain equivalence and

consequently it induces an isomorphism

on homology



The map

spliff
758Msp A

induced by inclusion is an

isomorphism since bothquotient
groups are free with the bases

singular p simplices
in B that

do not lie in A

Hp x A I Hp
s

g

Hp B An B

B



Here is an example of the machinery
we developed a classical result from 1910
due to Brouwer known as

INVARIANCE OF DIMENSION

If non empty open sets Ucam

and Vern are homeomorphic

then m m

Let Xe U By excision

HpLu V X E HpCRM IRM x

From LES of CRM IRA x2

HFCIRM xD HpCRY HpCRYIRKED

Ip firm xy HI Rm
we get Hp RmIRKED IHI IRM X
Since RM x strongly deformation



retracts to Sm
1

Hp u u x2 Hp Csm 8 Therwise

Homeomorphism h b V yields
a homeomorphism of pairs

U U x and V V ha

and so

Hp U U A I Hplv V h xD

Since also

Hp Yu had eHp Sm
EPN
O otherwise

it follows that man


